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GH.E IF.
s the midpoint of G1.

Prove: AEFI = AHFG

P
\/\I/‘* i/\\*\ H

Statement Justification

0.IE=GH,_EF=HEFisthe | 0.Given
midpoint of GI

1.1F =GF 1. Definition of midpoint

2 AEFI = AHFG 2. SSS triangle congruence




[image: image2.png]3. Given: V SD = DW
Prove: AWZD = ASDZ

w
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Justification

0.WZ = 7S = SD=DW 0. Given
1.ZD = 72D 1. Reflexive Property Congruence

2.Awzb = Asbz 2. SSS triangle congruence




[image: image3.png]18. Given: X is the midpoint of AG and of NR. A\

Prove: AANX = AGRX

Statement Justification

0. X'is the midpoint of AGand
NR

0. Given

IIZ

AX = CX, NX =RX

-

Hl

1. Definition of midpoint
2./ AXN= LGXR 2. Vertical angles are congruent

3. A ANX = AGRX 3. SAS triangle congruence




[image: image4.png]26. Given: GK bisects ZJ/GM,
Gl =GM.

Prove: AGJK = AGMK

Statement Justification

0. GK bisects ZJGM, GJ = GM | 0. Given

1.L)GK = £ MGK 1. Definition of bisector

2.GK = CK 2. Reflexive Property Congruence

3.AGK = AGMK 3. SAS triangle congruence




[image: image5.png]27. Given: AE and BD bisect each other.
Prove: AACB = AECD
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Statement Justification

0.AE and BD bisect each other | 0. Given
1.AC =EC,BC = DC 1. Definition of bisector
2./, ACB = L ECD 2. Vertical angles are congruent

3.AACB = AECD 3. SAS triangle congruency
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6. Given: 2 BAC = £ DAC
AC L BD

Prove: AABC = AADC

Staté%ent

Justification

0.LBAC = L DAC,ACLBD | 0. Given

1.£DCA and .LBCA arert
angles.

5. .LBCA = LDCA

1. def of perpendicular

2. All right angles are congruent

3. LAC

n

AC 3. Reflexive Property Congruence

4. . Aasc =~ Aapc 4. ASA triangle congruence =~




[image: image7.png]7. Given: OR =
Prove: AQRT = ATSQ
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Statement

Justification

0.QR =TS, QR // ST 0. Given

1 a = E’ 1. Reflexive Property Congruence

2. Alternate Interior Angles are
congruent

2. LRQT =L STQ

3. SAS triangle congruence

3. AQRT = ATsQ




[image: image8.png]11. Given: £V = Y,
WZ bisects ZVWY.
Prove: AVWZ = AYWZ
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Statgment Justification
0. LV =LY, WZ bisects 0. Given
Lvwy
1.LVWZ = L YWZ 1. Definition of bisector
2. WZ="Wz 2. Reflexive Property Congruence

3AWZ = Aywz 3. AAS triangle congruence




[image: image9.png]12. Given: PO | 0S. RS 1 [
T is the midpoint of PR.
Prove: APQT = ARST

/R

Statement

Justification

0.PQLQS,RSLQS, Tisthe | 0. Given

midpoint of PR
1..TQP = 4 TSR 1. All right angles are congruent
2.PT= RT 2. Definition of midpoint

3. £QTP = £STR 3. Vertical angles are congruent

4. ApaT = ARST

4. AAS triangle congruence




[image: image10.png]20. Given: /N = /P, MO = Q0
Prove: AMON = AQOP
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Statement Justification

0. Given

0.LN = LP,MO= QO

1. LMON = £ QOP 1. Vertical angles are congruent

2. AMoN = Aqop

2. AAS triangle congruence




[image: image11.png]21. Given: /F = /I, FG | JH
Prove: AFGI = AHIG

Justification

Statement

0.LF = /H,FG /jA_

0. Given

1. LFG) = L HIG 1. Alternate interior angles are

congruent
20 =a 2. Reflexive Property Congruence

3. AFG) = AHIG 3. AAS triangle congruence




